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1[HK ZEE Lk 300 20 150 300 770
2|fE mE FEREFERXE 300 150 300 750
3|EEr 4t fE K= 100 150 225 475
A\ FxB =X BEABXE 25 20 300 80 425
5|ILG RI faft K= 25 11 225 150 411
O|Fkty HHE fafEXZ 25 11 225 150 411
1| EF BEAEXE 25 300 80 405
8| AH A— faff K= 100 11 150 80 341
ILHE ®1E fE K= 25 80 225 330
10[#%  Kith BEEAXEXE 100 40 80 40 260
113k #FE BEAEXE 100 40 80 220
12[Af ZFEX faEXZ 10 6 80 80 176
13| E BABY [fBEX=EF 6 80 80 166
14| ¥ A4% faEXZ 10 29 80 40 159
1EKR Ex fa K= 25 11 40 80 156
16| BBk (N M HITKE 25 2 40 80 147
16| Bl &I M HEITKE 25 2 40 80 147
18|FEHD If faff K= 6 40 40 86
NEH B2 fa K= 2 80 82
YR 7E BEERAFXE 2 40 40 82
19| =HE BEAEXE 2 40 40 82
Vs & faf K= 2 40 40 82
23[R EXER |[feEKXZF 80 80
2| =FH Bth [EEXRXZE 20 40 20 80
23[R RE fa K= 40 40 80
26|E)Il #hth faff K= 10 29 20 20 79
27| HEH |EREKXE 10 6 20 40 76
28|/BH & REERKZE 6 40 20 66
28| {HEE FEAEFERKXE 6 40 20 66
28| H F1E FAREFERAE 6 40 20 66
S1|{EE BAER | AMHEIIKE 2 40 20 62
N8 8 LN F T K 2 40 20 62
31[deE K RIGERKE 2 20 40 62
34| LB {BF REEAKREEZE 10 11 20 20 61
M4IMK A ABRKE 10 11 20 20 61
36[#% fEAER M EITKE 10 2 2 40 54
37[mH B EBEXF 6 20 20 46
SI|KAR 18 Elg K= 6 20 20 46
39| K faf KE 2 40 2 44
0| T2E BB |BRESEREXFE 2 20 20 42
O[FL =& NINEEKRE 2 20 20 42
40| #1110 3EK EIGEREXE 2 20 20 42
40|gk2 518 RIGERKXE 2 20 20 42
40|17 B3k BEAEXE 2 40 42
45| =k BBl NINEEKRZE 1 20 20 41




45|k 8% AMEEXZ 1 20 20 41
471#E FR B KXF 40 40
48|IRA 1K M EITKE 11 20 2 33
49(M O Fosh B v N 10 2 20 32
S0|{FEE 181 Ao KE 6 20 2 28
S ZER EEE EBEXFE 6 20 26
S5 $RER BEEAKE 6 20 26
BKF BA REAZERKXE 2 20 2 24
S3EE =k BEEAKE 2 20 2 24
S3|FHH KR REEARKZE 2 20 2 24
[ E A5 fE K= 2 20 2 24
S3[FII_EiE BERBEEXE 2 2 20 24
S8[SF EIE &KX 1 20 2 23
58|#A7k  FOHE EEXE 1 2 20 23
S8|AH XE ABRKKZE 1 2 20 23
61(BaTE &2 REAZERKXE 2 20 22
615 @A fa K= 20 2 22
61[Ek {E& BEAEXE 20 2 22
61| AR+ F Ak ElGKZE 2 20 22
61| KPP ST EEXE 2 20 22
61[dh4t IEX EBEXE 2 20 22
67| KHE B4 M ITEXE 1 20 21
67|42 & f& [ K F 1 20 21
I[ME =K RIGEFEXZF 20 20
69| FEF Hth BEABXE 20 20
69| & ImiE BEABEXFE 20 20
69| TEE E& BREXZ 20 20
69| FEUE 5 &R faff K= 20 20
69|KH R faf K= 20 20
69[3RH Ef REARKE 20 20
16 E EX NI KE 11 2 2 15
T =F EAZERKXE 6 2 2 10
EEk B/ [BEBEXE 6 2 2 10
O|FEH —E EAZREKXE 6 2 8
9|F1R HIF e = PN 6 2 8
Bl|faA R EIGEREXE 2 2 2 6
82[dh/m X RIERXZE 1 2 2 5
82|ithk %%k N PN 1 2 2 5
84[HlH K& M HEITKE 2 2 4
84[i%E Fih M EITKE 2 2 4
84|8H EAXER [REAXKZ 2 2 4
84tk BEIX REARKE 2 2 4
88| HPR En#t M HEITKE 1 2 3
88[Faft && EEXE 1 2 3
88[RY E# FARFREAE 1 2 3
88[kidA &3l AR FREAE 1 2 3
88[EH BH RIBERXZE 1 2 3
8[54 H NINEEKXRE 1 2 3
88|/h il =X KR KE 1 2 3
88[ XA &3 | KHKFE 1 2 3
968K EE R EKXE 2 2




96[;T58 H[F M HEITKE 2 2
96| Fr4d ZH:3 LN T K 2 2
96[#%E I LM ST KE 2 2
96[;EiZ X FARFRAFE 2 2
96|FE AR |ARAFERXE 2 2
6B/hEHE E— |EREXFEFE 2 2
96| FE EAER [EREXFEZFH 2 2
96[mFt EX BEAFXRFE 2 2
96[;BHE FEX R BEREKE 2 2
96(HH &N EEXE 2 9
96(78)I AN EEXRE 2 2
965k FEKX RPN 2 9
9%6|HFH & BRI TEKXF 2 2
9| HFH BIK BREXE 2 9
96[;FE)I_FEEA BEREXE 2 2
96| & A If F BREXE 2 2
96| EFIEK EREEEKE 2 2
96| IEES EIGEREKE 2 2
96[F FZ BEABXE 2 2
96( KX FF IEEK EAMEILKRE 2 2
6HEM K& R IMFHILKRE 2 2
96[HEH &= EAZEXE 2 2
6IRFH RS ERAZEKE 2 2
96|5H #H%F ERAZEKXE 2 2
96[HiE Eih ERAZEKE 2 2
96|80 MHmi REAZERKXE 2 2
o6[MFt EE REARRT K 2 2
96O HF REEAKZE 2 2
96| NEE K SHKE 2 2
96[FEIS TR RIBERXZE 2 2
127|gi1H A Ao KRE 1 1
127461l &— Ao KE 1 1
127|146 M AR KE 1 1
127|%2H % BERBEEXE 1 1
127|511 #%35h BEREEEKE 1 1
127])110%  H BERBEEXE 1 1
127|5 H#XK BEREEEKRE 1 1
127|A$ X EAMEILKRE 1 1
127\ KA && M HEITKE 1 1
1271811 18 AT EXE 1 1
127( K1 g5 M ITEXRE 1 1
127|#3h & NIMNEEKXRE 1 1
127108 fh M KREEZE 1 1
127|H$ FEF NN KEEZES 1 1
1270 /R BRE M KREEZE 1 1
127|855 & NN KEEZES 1 1
127\ K2 IS M KREEZE 1 1
127|187  5n AN KZEEZEE 1 1
127)1RF#F F EAZFEKXE 1 1
1278 BA EAZERKE 1 1
1273k H 5 EAZFEKXE 1 1




127[fk RXK REAZEKE 1 1
127]4#80 =4 REARIKE 1 1
127| Rk it REARITKE 1 1
1273t = REAKXE 1 1
127|%H XK BEEEKE 1 1
127|Rik WK R HE KF 1 1




